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' 2 Start with: X+

_ X/X—Y/X

X/X+Yy/X
1-y/x
1+y/x

Divide through by x:

Simplify:

Start with:

- dv

R B G
- ax
A
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Then: Y. - 1=V .
- dx 1+v 1+v
Tk dv. _ 1-2v—v?
Simplify: X dx T4V .
§§paration of Variables '.
| 4
LI{Separate the variables: e dv = £ dx 4
E 1-2v—v2 X
integral sign in front: I S dv = fi dx
i 1-2v—v2 X
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Integrate:

Al - "

e In(k)

in

: —% In(1-2v-v?2)
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Substitute v = Y. 1_o¢ Y y_, Y 1
1m0 - .
- Multiply through by x2: X2—2xy—y2 = 1

gL k2

y24+2xy—x2 = — =
12

el =t
Replace'— —k? by C: | y2+2Xy_x2;= C =

Change signs:
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